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BE L5 35 39 g 80 151 649 SR 53 55 108 280 800
EEM mh BE 35 4 76 101 659 2L B— 47 16 93 129 801
X3KE 36 36 72 35 685 13/{Pib51 B 15 19 94 137 803
4| R B 10 39 79 97 693 1 FH B= 49 44 93 125 805
*5|5H BE 41 10 81 113 697 e 53 18 101 205 805
BlIAR %/E 36 39 7539 714 6T B 19 47 9% 153 807
BRI & 19 19 98 269 711 17|8E #H—E 1 50 101 202 808
8l XE B 48 16 04 206 714 HE T T 50 18 98 169 811
o[BI —% 40 42 82 100 720 49|8k5t FaEd 19 47 06 147 813
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F20|3r5 WA 40 39 79 45 745 Z60[1L/FA FIA 59 56 115 282 868
21|AE =5 44 13 87 125 745 61iAm BAA 19 55 104 167 873
2|EE = 47 18 95 204 7456 62| EE FA 55 56 111 209 90.1
23| AKE H 42 45 87 123 747 63JIIE fl+ 19 52 101 101 909
T RS 50 19 99 241 749 64|75 iR 61 61 122 267 953
X5 AE B— 53 50 103 279 751
26/BE E% 14 15 89 134 756
27|81H JE— 16 19 95 193 757
28|ILF F18 44 42 8% 97 763
29|mm = 16 16 92 154 766
30\l Hik 41 42 83 58 772
R 49 45 94 165 775
32|BE R b1 16 o7 192 778
33| E i 17 12 89 110 780
34| A 12 47 89 109 781
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oy 1 5 17 79, - =
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, %Er&] BE— 38 40 78 106 67.4
#E EH BxX 42 41 83 154 67.6
*3|#% IEBR 47 49 96 27.6 68.4
4| EE % 42 44 86 17.0 69.0
*5|BE E—8 44 44 88 185 69.5
6|AK =Y 38 40 78 8.3 69.7
>/ |#HE 40 45 85  15.1 69.9
8|FHE & 42 41 83 128 70.2
9|+tB &tk 42 46 88  17.2 70.8
* 10|20 WA 43 44 87  16.1 70.9
11|mm@ &R 46 49 95 239 71.1
122#FT A& 45 42 87  15.7 71.3
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14|Z5F #AF 40 42 82 102 71.8
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